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QUESTION 1

A scrum master wants to determine if the team has enough time to complete the work planned for an
iteration.

What is used to assess this?

A. Plan\\'s Task Board View

B. Ranked List of work items

C. Load Bar in the Plan Details

D. Traceability View sorted by Estimate

Correct Answer: B

QUESTION 2

A team is struggling to find the correct build result and wants to automatically reduce the amount of results
retained.

How can this be accomplished?

A. Manually delete them.

B. Set up a pruning policy.

C. Delete the build engine and create a new one.

D. Delete the build definition and create a new one

Correct Answer: D

QUESTION 3

A development team would like to apply tighter governance of code towards the end of its release How is this
implemented? (Choose two.)

A. Restrict deliveries based on role.

B. Restrict deliveries based on access group.

C. Require read only attributes on work items.

D. Require change sets to be approved before delivery.

E. Restrict check-in to the developer repository workspace.
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Correct Answer: DE

QUESTION 4

A development has organized the source code into components and found that there is a strong
dependency or containment relationship between two of the components.

What action could the development team take to establish this relationship?

A. Take a baseline of both components.

B. Update both component\\'s Properties view.

C. Utilize a work item to link both components.

D. Create the Child component as a subcomponent of the parent.

Correct Answer: B

QUESTION 5

An organization is defining how to structure the project area and has decided to exclude using team areas. Which
scenario matches this decision?

A. Multiple timelines.

B. No process required.

C. Small project with a few developers.

D. Restrict visibility to streams and components.

Correct Answer: C
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